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Q1.  
(iv)                                                                                                        		1
Q2. Inverse relation between price and quantity demanded.           	1
Q3. (iii)                                                                                                          	1
Q4. (i)                                                                                                           	1
Q5.(i) cut throat price competition						3
       (ii)Loss of revenue 
        (iii) price and output policy depends on the price and output policy of the rival firms in the market.
(iv) difficult to draw firm’s demand curve.                                                    3
                                                      Or
   Firms in the long run earn normal profit.If  in case extra normal profits are earned ,new firms will join industry,Market supply increases. Market price falls and extra normal profit will be wiped out. Vice versa in case of extra normal losses.

Q6. AC falling, AC constant and AC rising .Explain with diagram.                  3

Q7.Since the resources and technology remain the same ,PPC would not shift.Explain with diagram.                                                                                   3
                                                           Or
Resources are scarce and it has alternative uses.Unlimited want.
Related to distribution of income in the economy. (i) Factoral distribution(ii)Inter personal distribution of income.Explain.              1+2=3

Q8. In higher indifference curve consumption of one good is more than the other.Explain.
Assumption:-- Monotonic preferences of the consumer.                  2+2=4

Q9. AVC falling AVC >MC
      AVC rising AVC<MC
     AVC constant AVC=MC
AVC can fall even when MC rising.
Both AVC and MC are U shaped                                                                  4

Q10. Producer is in equilibrium at 4th unit of out put .
Two conditions are   (i) MR=MC (ii) MC is rising from the point of equilibrium.
 Calculation of  MR and MC from TR and TC.                                            2+2+2=6

                                                    Or

  Definition of Law of variable proportion.
   Reasons for three stages.                                                                     2+2+2=6

Q11. Maximum price ceiling :--Excess demand, Price rise, black marketing, hoarding.
  Minimum price ceiling:---- excess supply, unsold stocks, losses, buffer stock. 
                                                                                                                       3+3=6

Q12. Not in equilibrium, formula of equilibrium, calculation of the equilibrium with the given values.
Consumer would react to this situation by consuming more of good x in place of good y.                                                                                                     1+3+2=6

                                                        Section B
Q13. (b)                                                                                                               	1

Q14. (d)                                                                                                                	1

Q15. Devaluation is the fall in the value of domestic currency in relation to  foreign currency as planned by the government.                                         	1

Q16. (i) export (ii) foreign tourists (iii) any other sources                            	1

Q17. Formula 
        Y= 9600 C= 7600                                                                                        1+2=3
                                                       Or
     Explain through numerical example making a table.

Q18. Explanation with the diagram.                                                                  	3
Q19. Let the cash reserve 1000 and CRR= 10 % then credit creation= 10000.
         Explain the process of credit creation.
                                                      Or
  (i) Central bank offers loan to the commercial banks. (ii) accepts surplus funds of the commercial banks deposits.
         (iii) Repo rate 
         (iv) supervisory functions

 Q20. (i)Definition of stock and flow                                                                     	4
          (ii) time dimension
          (iii) static and dynamic concept
         Example

Q21. Definition appreciation and depreciation of currency.
 Depreciation of domestic currency, increases export and imports decline.
          Appreciation of domestic currency, decline in export and increase in import. 
                                                                                                                         	4
Q22. Explanation from the objectives of government budget.
                                             Or
         Definition of fiscal and primary deficit.
        Primary deficit indicates borrowing requirement of the government owing to fiscal deficit net of interest payment.                                                   2+2+2=6

Q23. Definition of inflationary and deflationary gap with explanation
         Increase in Repo rate and open market operation, increase in CRR. 
        Explanation.                                                                                           4+2=6 
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Q24. (a) GDP at factor cost= 1700 crore
          (b) factor income to abroad= 100 crore.

         
